ST 645y i = X 15
T XATF 4« FUAAT FIEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
AR P FH 3 X I
1 45 — 120 8.8 0 —| - - —
2 LERA ot —ft 14E 21 - - - -
EEELS 0 K
1 45 —|# 12 15 9.3 9.3 | —
2 LFELIA o i 40 | L2 17 348k 26[: 26 —| -
2| ¥TH Fo F X — 1l o1y | | | —
ERRLISh O KR
1 EEMOGEARIFHRE D 40 L1 178 21 25 25 - -
2 LSO K 40 | L1|d 16 208 19 19— —
| KfE [EECIR A
1 R S R P S (K, fEm | R =B ER fER) - -
2 LEEU O KR — | B | Pt EkHE bW W | —
[iReaR ok dme
1 RO
(1) /2%, W/, #F, AL, —ti 14 1 | - - —
KX, bEAE, BE, /48R,
g, g, Al
(2) Nlsw, THEEF, & HEEF, i —ff 11 8. 6 — — — —
(3)  ERELSoHuR — i 14Ez 1 e
2 LELA DK
1) FEM#FE/EREGECIPESI 40 | L1|d 25 200 40F 40  — -
E BRI
(2) #h/ ¥, &/ EA 40 | LO[F 20/ 16ffi 32 32— —
(3) W, FRAIL, B, LVHE, 40 | LO[F 20 22Em ot 30— —
MZEEAY, WP, mER
4) w5, K&, BE, b/, 40 | L1 20 2T o5 25 0 | —
(5) # /A, KEB, @/ EHN 40 | L1(P 20/ 148 32 32— —
6) s, B, #WA —t 1 14 9.0l 9.00 —| —
(7} ERLS DI 40 | L1[|F 21 14ﬁm gt 32— —




ST 645y i = X 25
T XATF 4« FUAAT FIEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
K KEFE1~5TH |2, — | iR | fh¥E ph¥E L I:I:Zj - -
2 B 1~3TH £ — | BRER | IhMY HYE LR LY - -
oy A Kk — | BSAR | fh¥E bkve vE [kvE - -
AT LR X
1 A —# e 25 | —| | —
2 ERRESA O XK
(1) #+E —# 1ofb 12 9.0 9.00 —| —
(20 kRS o HR 40 | L1 27 498t 208 29 0 — —
HREEE1~3TH |4&f 50 1.2| lb¥4E l:I:fEr [Pkl s e - -
<| AN e A% — | BRAR | PMY bk¥E bWy e | —
TR AR X g
1 FH R
(1) A5 —f 1gptioge  —| | - —
(2) kRSt HR —p 14E: 220 - - - -
2 LRERIA DK
(1) sh& —f 1fF 1T 9.0 9.0f  —| —
(2)  EFRECAS o HuIR
4 Ei#E30 7 5REWy 50 | 1.1 28 41H 39 39 — —
o FRLA O H 50 | 1.0l 20 34r@ 34Tm 34 - -
| ®F itk Rk — | B | fhHE HME HME fhHE — -
AT LR Kk
1 ERHMXIR —fi 1 32—~ —| -
2 LEMADRKIE
(1) R#& 40 | 1O 25 440 o2 22 — -
(2) fEN, HE 40 | 1.0 o4 44t 326 32— —
(3)  EEELSOHI 40 | LoO|[d 21 448 o2E 22— —
EEELE F% FH M K 3 el 7.7pn 18 | | | —
RSO KIS 40 | L1|F 12 21@ 186 18— —




ST 645y i = X 3E
T XATF 4« FUAAT FIEREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
i-| % b I
1 BHxK 50 | 1.2| kY8 H¥E by v | —
2 LSO HE — | MR | bk bW o o | —
AT LR X
1 P R
(1) sh& —p 7oAl 100 - | | —
(2 kRSO HIR — i 12E 24— — — —
2 ERLSOXEL
(1) 45 —F L 18 9.0l 9.0f | —
(2) EGE3 0 7HMEOTEEMGENE 40 | L L[H 23F 49+ 314 31 —|  —
ARHFRI
(3) RE& 50 | 11| 21 420 o6t 26 0 —| —
(4)  _RECLASh D HLER 40 | L1|h 18 428 oef 260 0 —| —
% % i A Kk — | BRAR | PbME bbYE LbMH pLWE -
AT LR X
1 A —ologen 24 | | | —
2 ERLEA DX
(1) FEMFEERHTFHRIE 40 | LO|P 33 46 4 42 | —
(2)  _ERELAS; D HE 40 | LO|P 29 38t sS4 34 0 | —
M3 kR — | BEHE | PLHE J:I:.ZEr ot = == - -
T A g
1 B s K — o 1uyeiose | | | —
2 LRSS ORI
(1) 45 —{f 18 - -
(2) FBHE, AN, P70 MG, P 50 | L1|F 27F -l -
(3) R4 40 | L1[H 27 - -
4 EFLAS O HUR 50 | L.1|F 28 - -
HAHR1~6TH |2k — | EG#R| -l -
< XE fe P 4 X33 —lfd 7. i - -




&F0 645y i = X 1H
T XATF 4« FUAAT FIEREE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
T XE RO K 40 | L1 11 210 18rm 18 - -
| REfILF 1~ 4T B2k — | BRER | IhMY HYE LR LY - -
O ® kel — | BEAR | PbME bW kv kW | —
AT LR X
1 BRI HXE
(1) 25 —ht 1R 8. | | | —
(2) BRSSO —|d 15E 23 - - - -
2 ERRESAOXIER
(1) 45 —|F 1B 24t 0.6l 9.6f | —
(20 ERELS OIS 40 | L0424 35 3ot 3y 0 —| —
5 R [EECIR A — | MR | M Lk tti%r e I
A AR K
1 R — 1280 18 - - - -
2 hEESA DX
(1) EBHTEARHFRBW 40 | LOF 27 29 27 27 | —
(2)  EFLAS O HR 40 | Lo|f 23 23 2086 20 | —
E| AnFHF A X
1 FH@ORHA 7 —7E L K A e | R R fES - -
JEIX Ik
2 ERREAA D X — | BEHR | Ph#E Lk¥E LhHE LREE - -
T A g
1 B s K o1 | | | —
2 LRSS ORI
(1) fiﬁ%%ﬁ)\m&ﬁ&(ﬁ&ﬁ%ﬁm% 40 | L1|F 23 24F 3¢ 3¢ | —
s
(2)  ERELS o HIR 40 | L1|F 19 19F@ 29r@ 29 | -
w1 Th £t — | BEAR | PLME k¥ Lbve b | —
WISrL3 - 4TH |2IK — | BRAR| LB LkYE b pLIE - -
7 K ER FE ) X I —Wt 8. o 16 | —| |  —




ST 645y i = X 5E
T XATF 4« FUAAT FIEREE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
7 7K HR LFCRAS D X teR
1 %%i&ﬁiﬁ&ﬁmiﬁ%&&rﬁiﬁrﬂ#%% 40 | Lo 15 28+ 24b 24 | —
e
2 REELLSh o sk 40 | LO|F 13 2T@ 21t 211 - —
HE [Rca AR — | BEAR | fLiH Lk tti’ér e - -
TAE LR R
1 =R
(1) AN, HHE — e 8.6 —| - = -
(2)  EFLst o — i 16Ez a0 - - - -
2 kRSO
(1) EZH5E AREAREHRIB 40 | Lo 3o 34— - - -
(2) TS, HONE —{f 14ff 14 9.0 9.0 —| —
(3)  _RECLASf DHILER 40 | 1.0 25 27Hh 26l 260  —|  —
=AR AL Kk — | BSHR | LY LLVE LLYE LT -
AT LR X
1 B
(1) S5 —t st 8.8 | | —
(2) R st 19 | | —
(3) wEray, KrL, BlLHE, —f6ti 1 18 |~  —
REIr A, /NE, HE, #A,
il AR
@) ERERPA O HIR —fd 17 16 — — -
2 LRLS KK
(1) 45 —F 12 1T 9.0 0.0f  —
(2) EEHFEARHFHRB 50 | LO|F 27 279 294 29 @ —| —
(3) ml 40 | LO|T 2gf 228 24kl 24 0 —| -
() LERCEASOHIER 40 | LO[H 22t 22FIE o4l 24  —|  —
R IFER gt — | BE#R | PRME LhVE LY kYR - -
WL 1~3TH £t — | B | k¥R MR HME fhiE — —
IW=EH1 - 2TH EES.0 — | Bl | Lb¥E HHE O HME LT — —




H
L
o

5 6Ly =] 65

T RETH 4 - RHIA T FHaBBE

E £2 ; o B B Pt (AL T (s 5
g ™ (TH) XiRFH HWo M oo & B e B

% e f&

= = = =
D IWFB1~4TH N — | BRMR | PR HYE phME phYE - -

W




